100
by FL—IL (AL)
625 379 NOT10030
by FL—ILZIF (AL)
‘ NOTUS9712 W=1200LLTF W=1200LLF W=1200LLF 100~280
o
- |
N k% | 20~30
()Y Jox ), 20~30
| ‘ FABPAYEUYE R (SUS)
‘ ‘ M4 x 20 P=115
1 3L
! ‘ ILA&F (AL) ‘ ‘ ‘ 3
| ‘ S2225 ! ! !
! ‘ X#E(AL) 72
} \ S5545 ! ! ! =
Ao | | | g
g | | | I
\ \ BLYAL 72 H—(AL) ‘ ‘ ‘
| | R55YAA \ \ \ 3
A . i/ FREVELTER i i - y
g | ‘ / M4 x 25 (W =7TJFATULR) ] %
B I L
\ \ )
| ‘ T (AL AL E
i i S4430
: THEEEE (AL)
35‘ 5‘5 DP44CHA—A
P FSRFHRAE R (SUS)
o i M4 x 19 . TR e K
~ | Fer A dn FARZYELTER(P-SUS) FSRTHRER(SUS) by FL—IL(AL) BLYALT7Uh—(AL)  HEARIVRFrvT (AL
‘ J;(’;::;t/nLAE(SUS) M4 % 25 MA% 19 NOT10030 evAA KN ¥ % X WVCA—RL
i ey - gﬂ/
2 t 7/ Bkt i7 LA THEESRAD THAD FHHAD Ty T
— T | m PS55EPG $5545 DP44CHA—A NOT10030ECP2
o 1N sxRAL NN L
2 ; |200~ | . SKN200~ 0
< i o HAKRLE—(AL) 7 - i
m i 2| EAA —— K IR O BRYALS—YLY
; SKN * * % HA : = @ |
Q ’ (BiKIZHE)
H— - [ | o A
0 ] - N FSRFHRE Z (SUS)
o A HEE RS 2 ) — M4 x 13
1N Bils 75 2 25
o (a3l ; S8R40/M5 X 50 &)
) THIVEFvy T (#i8)
- T ‘ T 12 HEREEAR(AL) FEARAL) / 1 SEF(AL) FS44ECN
: l N 65 %X 55/t=2.0mm SKN200~ o— S2225
\ \
] BERTUH— P=115L1F 35~575| 35~57.5 P=115LLF 35~57.5 | 35~57.5 P =250l
o e " 7
L L M122RIRILE(SNBT)
P S5Z/\—h oos — 12001 - -
15 ER{Ah=170LL L H15~ W=1200LLF W=1200LLF 80~250 20~30
i FHEE
TR
£ 1 aoow T o F 9y (A ¥ TN v a ) T RN L #
AN — B | ‘ ‘ /NLa=—Ff 1508 FBK—2BW - MM | MY | fEK |FTIER
A / § pes =
R = o F HH M L— L —HEIH i K| 7174, 1725
~ — 2% | | | NOT1003075vkL— LI K& F 54T FAEY A X (A3)

7 H :2006.12.07

WEH : 2010.6.22

QOO OPDOOPDOLOD

E-033



